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What is an ‘Index Number’? What are the tests for a satisfactory index
number? Which index numbers satisfy these?
For the data given below, calculate Fishers Index Number :

Base Year Current Year
Commodity Price Quantity Price  Quantity
A 10 50 12 60
B 8 30 9 32
C 5 35 T 40
OR

Examine the relevance and significance of Wholesale Price Index
used in India. How is it constructed?

State and explain the Addition and Multiplication theorems in probability.
If A and B are any two events with probabilities P(A) = 0.5, P(B)=0.2
and P(AB) = 0.1, calculate the probability that neither A nor B occurs.

OR
Distinguish between mutually exclusive and independent events.
State Bayes theorzm.
In a bolt factory, machines A, B and C manufacture respectively 30%, 25%
and 45% of the total output. Of their output 5%, 4% and 2% are defective
bolts. A bolt is drawn at random and is found to be defective. What is the
probability that it was manufactured by machine A.

Define a binomial distribution and explain with an example how it arises
in real life. Evaluate the mean of the binomial distribution.
A four engined plane will land safely if at least two of its engines work

properly. If the probability that an engine will fail during flight is %,
o |

estimate the probability that the plane will land safely.

OR
Define the normal distribution and state its properties.
The family income in a locality i assumed to be normally distributed with
a mean of Rs 1200 and a standard deviation of Rs. 350. In a random sample
of 1000 families from that locality, how many families would you expect to
have an income of at least Rs. 1700.
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